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Part B

Do not write on this insert.  Any work on the insert will not be marked.

Do not place the insert into the answer booklet at the end of the examination.

Answer either Question B5 or Question B6 on pages 12 to 20 in the answer booklet.

There are 28 marks for each question.

Four of these marks are for Spelling, Punctuation and Grammar (SPaG).

EITHER

B5  Sacraments of Initiation
  
B5 (a) Explain what is said and done at a ceremony of believers’ baptism. (6 marks)

  
B5 (b) ‘For Christians, believers’ baptism is more important than infant baptism.’

  Do you agree?  Give reasons for your answer, showing that you have thought about 
more than one point of view. (6 marks)

B5 (c) Describe the Roman Catholic ceremony of Confirmation. (6 marks)

  
B5 (d) ‘There is no need for Roman Catholics to receive the Sacrament of Confirmation.’

  Do you agree?  Give reasons for your answer, showing that you have thought about 
more than one point of view. (6 marks)

 
SPaG: (4 marks)

 TOTAL MARKS FOR THIS QUESTION: (28 marks)
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Do not answer Question B6 if you have answered Question B5.

OR

B6 The Eucharist

B6 (a) Explain how the following names help Christians understand the Eucharist:

  Mass
  The Lord’s Supper. (6 marks)

B6 (b) Describe different ways in which Christians celebrate the Eucharist. (6 marks)

B6 (c) ‘Christians should receive the Eucharist every day.’

  Do you agree?  Give reasons for your answer, showing that you have thought 
about more than one point of view. (6 marks)

B6 (d) ‘For Christians, helping others is more important than going to church.’

 Do you agree?  Give reasons for your answer, showing that you have thought about 
more than one point of view. (6 marks)

 
SPaG: (4 marks)

 TOTAL MARKS FOR THIS QUESTION: (28 marks)

  
  

END  OF  QUESTIONS
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